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éha’m}ar 3 Jeetion 4

Ao fix)= x¥-Sx¥ 4l on 04 xes

Ph)= Sxi-20x3= sx3(x~4) Test CN'S (0 and 9) amd endofs ( OandS)
fro)y =
£U4) = 1024~ j250 #] = —ASS abs max at (0,1) and ($,1)
FISY = 31as - 3125+ = | abs min at (4, -2ss)
2
g, PO = -2ttt a
RO s ATVl 22 g(4od)  ONS 0,20 aok in iakrved!
(t-1)* (¢ 1% (e-n? zﬁifyf,};%&f fesk
Pr2) = =
S ayPAR -{/1 v —Z/qg =y 3 C o

abs max (C2,7C), absmin (74, )

o, £x) = (><’HJJl T xe) D e x 20
PUY= ~2(xk)S N x==1, pptin intervely so fest endpoint
FOV= 1, s is erther e smallest oclargst, since it the
only endpt and there are no CN's in inderval.
Notice for x 20, £ ()= "R(x3 20 “this means £ s

clt’c‘r\easmﬁ for all x 20, so (0,1 is the absalvde mox.
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Cl’wllmlﬂf‘ 3, _Section

5 )= 3729
C[j);: 372% S’f 7S

)= plprg e 3y

o) P(ﬁ): R/;) -—C/X) = 3?}4 ._;;z «3;) 2-5’f-~;l\5“ = “o}az.#gﬂy - 7S
'/ﬁ”(f):’ 37"’7’} % o mayimize P(j;),we need A”‘/f):cfgq},jo

C’(f)’ é? rs 3"-?’4; = 6g+S
3&::/0; )60;;3,-2.
we also peed 5”(?) «C ”g?).
—4 t S0 g this is tne
= 3. R will maximize pofit.
PL32.2)= ~23.8 = masgmum ,mpac/v‘-
] A ‘Il(b) _?»2
71 }/7 i . X
NN KA
: J>:KL /\W
3.2 ? \
¢lq)

SRVINE f = 391547
/‘1(3) 15 mfmmizé’e! when /4(3):6/4?),50
33+5’-f %7)1; = éz F S

g = 3
ozz/:- ./




Chapter3, Secton ¥,

4. y = Ax3-3x2 Fbx
Slr)fe, :j’: bx%~bx + b

To minimiee slopé rOIYLJ S/OPQ, /___:ﬁ “-0. \v/ in
yu: l@?K“‘é -”30, CN,‘X:: yz T | - },p’:gi)/
The, 5/0fwe, when x = 1z /Sj /(Z:ai). 2

m= 6(9)-6()it = 2 -3:6= Yz

32 S(x)= 29 [ —~x3+6x% +63% riogo) for ©4x= 12,
She shovld announce her (‘and:(w/a07 at @ time that will
give her the greatest s port, so maximize S
S (x)= 5’2} (- 3x*+[2x F63)s "%y ( x? —4x ~2))

VLK

= % (x- Nr3) ,*_/‘;\..._ X
Notice x="3 is not in the 2 7
sterval 0,121, Cheek ¢Ns and emdfpmj&’
Sey = 5 & 31 %
S(H) - A w519 PR

S (1= %? ~ 33512

She will have the masximum @ oont of J%oon‘ if she amovncas
her can o/chacy + menths prier 1o The election. I The
eleetion 1s held in /4/001 , she shovtd annewnce her

e a nol o £y m Apnil - A+ the Hme of the election, she shoo ld

tin with SLI9 of the vote.




C hapter 3, Sec from 4

M. x= thtal naﬁdm/ income, C(x)= fotal national Cons ol or1.
Cl(x) = maf:jma»/ /om/v-&m’//y 10 Corisumeé
S=x~C s 4ptal natimal Savings

Sx)= mt)/yma/ /g/p/gnsf'}y jo save

Cix}= - O0.Fx — 0.8

marginal oropensts o consume 15 Clch= 0. §~ 0, ¢f s 2
gina! prop

Find +he valve of x  that gMes the smallest Hotal sa vings
Sx)= x~C(x). Minimize +his, so

SxYy= ) - Cx) = | +0.8 +0. L/x""l/z =0

04 x= 1§

_%‘g‘ = & Bot this can'1 be n@ﬂ:‘“VP, so NO @r:‘i"f{'aﬂfooin;f&.
Oﬂ!y need to check the 9ndp0:ﬂf5~ Notice x=0 1s the aﬂ/j

\Owrtdarﬂ x-valve, and S(x) >0 frallx. Savings 1 Qltwijw

INCIRSING|, S X =0 gives the srallest sa vings, whieh will
be.

StoY= O~y = O- (%-—OW& = —~¥

S
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Cost 15 73 per book . Lot x = # 7 redvetions in price.
price = 1S =X Numbersold = Qoo +20x
Maximize Profrt.  pix)= Rx)-C(x)
P(x) = (:S‘~X)(200 f"E?Ox) ~ 3(200 -f'a?ox)
= TRAOXZ 4 YOx +2400
Pix)= ~4ox +40 =0 CN :x=1
PUUXY = — 40
PN = —d0 20 AN =] s mouimiz€ ,orwc”‘-
7716/orme that will maximize }omﬁml s 7).

.Wm_:jav Cost of botlom = 4x?
[,T x Cost of one side = 3"3
’/8’ ‘i><2

\_7 = TTax T

A
X

Maximize volvme,

= ij = ( “glx = I-{)(——“éx'g
Vf:q... x' = O C{J X’/Q/}@
Vi = ax

ViR 27120 /N k= 2 gives maximom Volume.,

— L 4 ‘ .
3 = A 5’523 St S0 c":me,ns/'am ‘pﬂf maximom velome.

NP
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Chapter 3, Sectron'S.

A7 cost of P doction = setue cost + c;aemﬁ@ cest
Led x = # pachineS vsed
é'e'fu/o cost = APX
opecating cost = 15 ( # hpors ).
pecating |
To make §oo0 vnits... JLOO = xmachinrs x @ 2 Kiekboards

§o00  _ # hovrs Malhing | bwor
30x

\ $000 )

C[)(): ADx + 18 ( 3ox ) = ﬁ?ax 4+ Y000 x !

A minimize Clx) + &)= 20-49000x"% =0
400 = L0x L
Ao ~x? men
\/
K:"t L0 xi‘/ﬁ//q +‘i"{“"="f }C}/

iy ©
GL&O, C {Vﬂf-"lf?'f' when X0 1y My

X= 404 will minimize. -
But +herg, ane ovly 10 machines | Simce. C decreaszs befroeen
X =0 and x:M./"/, x= 10 will ﬁiv@ midimom  Cost

f1§

b) Su‘oe,rv{\far uﬂs'“ eacn hove #* hour:s
, 50000 _ se
Using 10 machings, # hoos is Fons = 3 hours

Money earned = 1S (%) = P40

C) 5%},0 cost foc 10 machines s ‘A0(w) = * A00.
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K& Minimize. Sptal st = g-hpm,j@ cost ordé.f‘i‘/\lﬁ oSt

lorder~ 600
Let x= #cases f)g,r order. 'Tl’\ﬁf’i ﬂOFong' = 00O epies » =

——

xcass X

Clx)y = (¥ ia anfaje)(\s’%omga-ﬂf&) + (#ordess) (cost per orelery
= (2)(0.%) + (% )(30)
CU= 0. 4sx + 18000 x~!

- 16000 i
CUNV: 0.4S~ 18000 x™2 =0 —s g5 = XZ

X = 00,

npos Lo - . 36000 . ,
& (xY = 34000 x 3, Ca0)s s B0 g k=200 munimizes C
‘rﬁ,e, ﬁfm S hovid order  Zoo cases at a-timée.

3, x(r,)-: 500~Rp vaks demanded . P-_:ram‘o(’, m o OLp £,050 .

TR O _ap
& EY = x X e s () s s
]E(f)\'ﬁl when either ,
-20 -2
M )= Zﬁ,ﬁ!o oR®@ -\ = 35002 0

SOO“sz '"‘o?fg =500 adp = "QF

SO =0 pp selvtions Tp = SDO"G"?_"@

N inclashe ‘ elastic

\ b oE¢)
[ 4\ 125" e} 258 f

50 dernand is tnelpstie iF O £p4]Rs, umfafj fﬁf'—'ia'?Sj elpsticif

IRS (-P Z SO ;
-2
Another wey LEEYY 4l means ~1 4 E(pV 4], 50 7T 4 o2 © |

Since. 0 £ pe 250, S0 ~3p i% nen m:ga?livti, st we 0L
mdl'ﬁpb bﬂ 1, so ~SPOT, £ 2p e S00-2p
- DO (t;p 2 &L 8500 /O 4/25" Makcﬁs )E(P)J AI,
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C'»M;o%ﬁr“ 3 _Seedtion S

23, (eonP)
by From -the a/m/tfs:s on pg 73,
demand 15 elashe — revenue 15 decreasing  (1a5 250)
demand 5 inelashe —> wyenue is mcnms/@ (o, J25)
Rlp) increases on (0,125) and decreases o ( 125,4%) , 50
Revente s maxim izad when p=I4S"

Ay Ripy= xp = §00p - a?l@'z N CH." 0-1RS
/ - » - . j + i !/
R e L
Kevenue rs maximized when P=IRS.

d) Gm,@/x X(p) an d R’,(f;)

s | xep IR(P) s0°

o |Svo | o as0

|2S | ASD 31250

ASD O 0 l S a0 T

demand fevenue
X{pY Rip)
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C/’L[Z'm fer 3, Section S

x = # years Fom now

Vix)= vale at time x
JdV
TG = S3~10x  Jdollars CI’\M@{, in valve per year

5+or~a,3€, s 13 per case pec year

Want 1o maximize }omﬁ-v" per case.

Pro frt per case = Plxy= Vix) - 3x
PU)= S% -3 = S3-/ox -3
PN SD—j0% L——

1
foofit 1s mMaximized S’yz:’cucs from now . nfa,&-

X = s(o—ee_d in mp h., Y04 x < (s, Trok jzgq/g ?3%0 mf/z’sﬂy (74;//4:'1.
Diesel costs ’“’ /j;g/ driver /:5/;;;;(_1 4.2 per hovr. Fnd e
s”raree.d Hhat minimizes cost

we will minimize cost per hovr,

C (X\ = c'lf‘w'()f‘ pay fvel cost | gl in c}o lla per hovt-
X m; {j
/}\DV\“ + (i = )(;g; ?Y:fﬁ,)( “Vhovi

_— 2x
= )R+ Lt}i‘g'"[)_’ dollc{rs ’o:?f howe
= )2y amp X2
/ F '
& (X):: 1500 X
CN T X =0 — + o

P

S, ince Cost incrtesss For‘ aé(’ 6}0«?60[5 X jnﬂaﬁf than O
cost s minimized gf the lowest J/mec! allpred, 4s mph,
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C haplec 3, Section S

53 Towmj cost  CUIX) = ",;.)‘2 + S X+ /00 ob/lars

price f)(x)f /s -~ %3“ X when x vadfs Qiﬁ/am(_\/umf_d.
tayx of t dollars ,Mp un/'f*.

Ay Poft = P(x)s I§x- & X% - % Xt = SX—100 ~t %

- =5
= " X0 x -0 —tx
/ -5
P X )= 2% +tjo-t =0 (resnembec -t s Cms-i-a/m")
-2 2
x= "% (t-10) = & (jp-&) L Y
ééroﬂtﬁ

Fill iy 0000 on left
I 000 an f/&f'ld’
Judd do be saH .

12
b)Y To maximize,revenve. | we know mengoolist toll] maximize

: )prmai'Jﬂ SO %;- (1o~ £) virts w,// ég, ia/))(_f[}fé’,cf. X = 32" UD”Z'}.

Tox colleeted = T(E) = tx = 1’:(32-)(/0“'6')
Tz TE e At

T'UYy= "4t +4 =o ' i

Moximom tax revenue when =38

&) Each uvad © toxed *S
wirth np +ox, t=0. To maximize }ormcrb mono{oo/sz f)rzgdu(!éif
%‘ (!D““D) = 4 Um‘J’Si and fgr,oe D 2‘?'(4) = "/3.6‘0.
Witha < tox, =5, and %(;w—s’) =R vnis af@’/oma/we?c(-
price 15 ls - ;f"/.z): t4 25 . The f)n(}@ts FRY h:ghar LWh ein
Hhe dox is imp osed . The consvmer p2ys 35¢ of the fax,
and Fhe mDnopolJS‘f' }oays "’7(. A5 of the +ox




